
1) $365.00 earning 5% compound 
interest for 1 years.

Answer: ____________

2) $417.00 earning 3.6% compound 
interest for 6 years.

Answer: ____________

3) m12 / m1

Answer: ____________

4) Find the percentage change from 3 to 
12

Answer: ____________

5) (54)14

Answer: ____________

6) n20 * n18

n19

Answer: ____________

7) Find the percentage change from 7 to 
21

Answer: ____________

8) Find the percentage change from 8 to 
14

Answer: ____________

9) Find the percentage change from 5 to 
18

Answer: ____________

10) $423.00 earning 5.3% compound 
interest for 10 years.

Answer: ____________

11) Find the percentage change from 1 to 
15

Answer: ____________

12) Find the percentage change from 12 
to 24

Answer: ____________

13) f14 * f16

Answer: ____________

14) 111 / 117

Answer: ____________

15) (77)12

Answer: ____________
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16) Find the percentage change from 1 to 
19

Answer: ____________

17) 512 / 56

Answer: ____________

18) (615)13

Answer: ____________

19) 81 * 811

813

Answer: ____________

20) (42)5

Answer: ____________

Total: ___ / 20
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Answers:

1) $383.25 2) $515.58 3) m11 4) 300% 5) 556 6) n19 7) 200%

8) 75% 9) 260% 10) $708.96 11) 1400% 12) 100% 13) f30 14) 1-6

15) 784 16) 1800% 17) 56 18) 6195 19) 8-1 20) 410
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